For Want of a Nail

Put in the correct order.

The battle was lost.

The horse was lost.

The nail was lost.

The rider was lost.

The kingdom was lost.

The horse shoe was lost.

00,0000

Cavuse and Effect

e The cat was hungry so it _
* Because the cat was hungry, it _
e The _ as/ for it was hungry.

Cause: (reason) The cat was hungry.

Eff88H (result — what happens) It drank up the milk.

To show cause and effect we can use: because, as, for, so



"

The careless rider
didn’t fix the loose
nail in the horse
shoe.

S0

The rider didn't
reach for the battle.
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S0
The horse shoe

was lost.

v
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The battle was lost.

The horse began
to limp.

King lost his kingdom to his
enemy.

Match the cause (reason) with the effect (result)

Reason

Result

The nail was
loose.

The horseshoe
was lost.

The horse began to limp.

The horse began
to limp.

The horseshoe was
lost.

‘ The battle was lost. ]




The rider didn't
reach the battle.

The battle
was lost.

The king lost his kingdom,

The king lost his
kingdom.

[ The enemy won! ]
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The rider couldn’t
reach the battle.
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